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Vol =
FER N E
TH4 | A0 6 ARV S EE ST NSRS L
TSy « TfE - FER B {7 % & A bl A iR
B A& =X 1 18,997, 048
MR B T = 1 11, 893, 900
& T = 1 11,893,900 |3KHgEA 140 N
A7) SRR
EEEET = 1 3, 153, 479
EiAEFTH X T =X 1 3,153,479 | &l T 1 X
TAT7VMEZERR SR 150mm ;
EhAE AR AR 280 m2
TAT 7V MEERR SHEERRE 15 cm ;
A 110 m3
LY A7 iy b FRLE PEEME 5, 000m3ATH ;
b 110 m3
T CESE- EAR Y L& Ty) HEMEFERE 5.0k m
o 1 42 m3
ElEERRIAY EREERE 4.5k m
LGy 42 m3
TA7 7 (RED
T AR 280 m2
FEITyYr77 RC-40 AV E 300mm ;
e 280 m2
RIE TR M-30 LY /E 100mm ;
) 280 m2
FAEMRLET AT VMR G (20) EiZE/E 50mm 3
. OmiZ ;
] 280 m2
FAEMRLET AT VR G (20) EiZE/E 50mm 3
. OmiZ ;
3] 280 m2
FAEBRLET AT VMRS (20) EiZE/E 50mm 3
. Omiﬁé ;
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oY ol SN
FEAENGRE
T | 506 IR 5 ERE FEITE NaE s RN TF
TEHX4y « Tfd - FER B Az W B & HH i il A R
X R T = 1 85, 069
X R T = 1 85, 069 | A il =K i #R 70 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
H
i =X B 70 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
o
i =X R 36 m
W FE) KE1-FE5 - 307 15em# JE 1. Smm
PSR O
A Y 3, 864, 600
B EHT = 3, 864, 600 | AZWAEE S E 1 =
(4)
BT E A E 1 F2V
\ [#%r]
BT EE A E 1 F2V
B)
BT EE A E 1 F2V
®) [#[]
[ERAE Xy = 18,997, 048
HiE = 4,004, 800
BISTI S = 317, 800
HeffrE sy = 58,800 | MEHERYFAT ~IERE F 1
BGRESCGES (5 1) = 259, 000
B (FEHL) = 3, 687, 000
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R PERE
TH4 | A6 RV R ERE R AT N AR T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

ol T 2V 1 23, 001, 848

e R E20 1 9, 663, 000
T AT 2V 1 52, 445, 346

— e PR E20 1 9, 124, 654
FHLRERE (&) 2V 1 220, 000
s LReR (BxE) E20 1 630, 000
N E20 1 62, 420, 000
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(e VR o VR UM T ) 1R T L e 5
=+ /A = e
FEAENGRE e
T | 506 IR 5 ERE FEITE NaE s RN TF
TEHX4y « Tfd - FER B Az W B & #A i N iR
JE K e = 1 4,618, 000
Ak T = 1 4,278,190
BIEIA-N - T2 = 1 4,278,190 | B+ -4 1, 400 m2
TemPA T —J8 Bez=d 0 ol I FHARRIETAT7
VMES (20) t=50mm ;
HOE T (B eIH) 70 m3
TAT 7 Mk (BIED) EHREERE 7.3k m
RISy 70 m3
TAT7 bk (BJED
X R T = 1 107, 940
X R T = 1 107,940 | ¥a b= mi#R 300 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE
H
A Y 1 231, 870
AEEHE T Y 1 231,870 |23 ELEE 1 =
(4)
BT EE A E 1 F2V
(B)
[ERAE Xy = 1 4,618, 000
HiE 2 1 1, 317, 000
BISTI S = 1 221, 000
TERE 2 1 142, 000 | FtRR R e 2 1 =
BGRESCGES (5 1) = 1 79, 000
B (FEHL) = 1 1, 096, 000
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(8 VR I35 U P U 7 52T L Ly P
R PERE s
TH4 | A6 RV R ERE R AT N AR T
THEXSy - THE - FE5 H7 % & i Gl 2 N
ol T X 5, 935, 000
e R 2V 2, 966, 000
T AT X 8, 901, 000
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(R VR o VR UM T ) 12 A L e 5
== /oA = =
FERNERE s
TH4 | A0 6 ARV S EE ST NSRS L
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
JE K e = 1 5,702, 498
Ak T = 1 5,317, 100
BN = L = 1 5,317,100 |BIEIF—n" =14 1, 000 m2
TemZ B 2 12emPA T 8 BARLRIET A7 7V ME
A9 (20) t=50mm FAEHERLET AT 7 VMRS P (20)
t=50mm ;
HOE T (B eIH) 100 m3
TA77 Vb (BIEI) TEWEEERE 3.6k m ;
RISy 100 m3
TA7 7 (BIED)
X T = 1 153, 528
X JER3 T Y 1 153, 528 r‘ﬁﬁTl: i 240 m
AR TFE) SRR 15em JE1. 5mm HEK AR %5 1
E
r‘ﬁﬁﬂ: i 130 m
TR TFE) WA 15em JE1. Smm HEK AR %5 1
E
r‘ﬁﬁﬂ: i 19 m
W= FE) 777 45em JE 1. Smm HEAK A S 4
H
53 = 1 231, 870
B EHT = 1 231,870 | @A EE B 1 F2V
(4)
BT E A E 1 F2V
(B)
BT = 1 5, 702, 498
% = 1 1, 574, 000
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(R V2 I B P U ) G2 T o Ly P

B PR i
TH4 | A6 RV R ERE R AT N AR T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
e Tre: X 1 235, 000
R E20 1 142,000 | GEFR BRI LY 1 ey
BUGBREIUEL (REH L) 2V 1 93, 000
sty (R L) 2V 1 1, 339, 000
ol T 2V 1 7, 276, 498
e R E20 1 3, 603, 000
T AT 2V 1 10, 879, 498
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